q§m§03E:eao0(08s opqéegolamsopi3iean G-o- jo jg qodes,
m$eqradigdecdlomclgmcs

50§ (cleon§s)
o |ecleog: C2les) 200000 29000
J |edlog) 3305 220000 209000
2 |epdeco 305 Qo000 Q000
G [c8§ 3305 Qo000 Q000
9 |05 (2eqp) 808 - -

oqJs$ (pqeso8)
B [6050 e/oo§ 2960000
q [00&:¢ 6/ 208 00O

do8egqal o/n§ = 2509Q000
@ [e0000050 6/ = Bseeoco
20 [00388: o/n§ Q00EER0O Q0J000
00 |ocgdg o/§ Jg5e800 JgooBoo
o) [00gd:S o/} JJgeoo J299000
oQ [95B030 o/§ JBojqo0 JBggqo0
S ol R990400 36500
08 |e[go&esd o/0§ 2006600 20 J9900
o6 |epcoo:0(ged:(03: o/ = 206 Jooo
o |8§>%/g o/} JaRoeo
o0 |3[c3: o/} R0R6500 Q055600

m:?geaooéof}: (o?q§e§35)
o@ |[305388 8o o@00 JBoo
Jo [0303998(g1 (31970%) 8aox - RocCy
Jo |[0305338(g) (q:0) 82000 09500 G Joo
JJ |c 800 - Qoo
)R |ssée 800 - 96000
1S [cqodgpS(od:q) 82000 Booo Qoo
9 |c993¢(s08(gpop:) 8aox gjfpee SR

00203288
16 |e[gosd 8000 JGooo
1 [§6:s8 80 JGooo
1o |oozap4ss0 80200 QQoo
Je |eslcon(oudeqy) o6 _
0 |esloon(eqpsagy) o6 -




Ratesrtorsepdls B-0-jo g eg, dmadfeqiad

00:8c500E824apza (09682000) condonoicaiadap:
°X °§QI ° ° QEJ°JI.§°QF)°

, . capas: (090)
Saeﬁl“saeé “108"39 $§ @é
Oqjep (opq¢e4oC)
o [e050 8o 5060
J [oe&se 800 GEOR
2 [0c3egdl 8o 9990
G [e0000050 8o - 9eBo
9 [00386: 8o 5@o9 SER9
G [oogefyy 8o G000 Goos)
q [0cg8:§ 8o S50 G500
0 [0303050 8o GJ90 G299)
@ |09 8o 9990 Gooo
00 [opco0zdg)eds[0d: 800 = 9000
29 [g§0208/[g0 8o 59 Jo
oJ |93 8000 5669 90%9
09 [em:e05d 8o Q90 0Gqo
oG [oco:o[gés 8o Geog) Q000
o8) [e[goC:e8 8o 26Go 2600
(30593%
o6 [a80[g1§05(206) 8oomo JBoo
oq [s88[g)(cood[o3e) 8oooo 2900
00 [sB3[g)(c05208) 8oooo 900
o@ [80[g|(coodegp) 82000 2@00
Jo |[gE:[BEguS(08) 82000 G000
Jo |[§&:Feood(o5e 800 Q000
1) |BE:Boood08, 8o Q900
;R |[gE:Feocdeqp 800 Jooo
305861
15 (31005965 8a0o = 20000
19 |eseo€odsan:-) 8o 20500
16 [emeoodaoni-o 800 2900
19 |e@eoEo§zons-¢ 8o 29900
Jo [emCogeons-o 8o )
cqda8:
1@ |[§7:§ (0035000) AC 8oo0o Booo Bejoo
20 [0§:q) (208) AC 8oooo Booo Qoo0
Q0 [0§zones5 (§25) 8oooo 9000 98500
) [0€[glog§s (208) 8oooo 5000 26000
R @o%o ((3)335) 8oooo 20000 20800
0§0)p5:3:
5 [0§op5eadigEmd (c0d) 8oooo Q900 2900
29 [e§07pS:a8sa2000: (206) 82000 @500 29000
@00
B |eanlofeAl 8o =
?q |e@oEo:0K 8oo0o -
20 |eaologssl 800 =
@ |e@oCoges2 8o =
Go |ooqQodamocy: 800 Booo




